BK S:t Erik

Lordagsbarometer 2022-11-19

Partavling, 6 bord, 12 par. Antal brickor: 24. Medel: 120.0.

Plac Par Poang % Namn MID Klubb
1 10 138.,5 57.72 Ylva Strandberg - Gudrun Strandberg 9217 4143 BK S:t Erik
2 6 131.2 54.67 Solveig Lewander - Margit Brattberg 92825 84776 BK S:tErik
3 11 131.2 54.66 Hans Bjornor - Ulla Winblad 201812 48717 BK S:tErik
4 5 130.0 54.16 Anita Arkelid - Marianne Lundberg 16796 53116 BK S:t Erik - Skélby-Barkarby
5 12 129.8 54.09 Carina Murtas - Karin Ekhammar 93586 54543 BK S:t Erik
6 4 126.2 52.57 Lars Lindén - Annika Lindén 10451 65134 BK S:tErik
7 2 121.1  50.46 Lars Nilsson - Anita Brynje 43950 44476 BK S:tErik
8 7 120.1 50.05 Ulla Sten - Ulla-Britt Tidestrém 52920 85919 BK S:tErik
9 1 110.0 45.84 Eva Abragi - Magnus Backlund 61565 59151 BK S:t Erik
10 3 108.7 45.29 Peggy Nyholm - Tore Stormo 51632 78250 Arvika BS - BK S:t Erik
11 8 106.3  44.27 Maria Calissendorff - Gunvor Strémberg 79968 64796 BK S:t Erik - BK Bjorken
12 9 86.9 36.21 Margareta B. E. Eriksson - Cecilia Versteegh 20620 27235 Malmé Dam BK - BK S:t Erik
1 4 KKn10 Basta kontrakt 2 476 Basta kontrakt 3 43 Basta kontrakt
Nord v 942 3v O =-140 Ost v ED8642 34 OD-1100 Syd vED2 54 S =450
Ingen ¢+ Kn94 NS + EKn64 ov + ED97
#10842 & 0 Ve »6 & ¢ v & NT #109732 & ¢ v &N
~E98 4 D63 N6 8 37 « EK1082 4 D95 N56 957 4 E97 4 D5 N 8 106 118
v KKn vED108653 S 6 8 3 7 v3 v 105 S56 957 v10875 9643 S 8 106 118
+763 ¢52 06 595 ¢ D97 ¢ K853 087 486 + K10 46543 052615
#KKn753 #D V6595 210854 #EKn32 V87 486 #KKn54 &ED6 V52615
47542 4 Kn43 4 KKn108642
v7 v KKn97 v KKn
+ EKD108 + 102 + Kn82
*E96 #KD97 »8
Par Kontr Ut Res Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 10 44 N-3 +5 -150 9.0 9 4 4y N+1 5 650 0.0 00| 9 4 34S+3 o7 230 9.0
12 1 5¢ S-3 vK -150 9.0 7 6 2y N+1 &5 140 80 20|12 1 34S+3 &7 230 9.0
11 2 3vO+1 +A -170 6.0 11 2 4e V-2 *6 100 6.0 40| 3 10 34 S+2 v7 200 5.0
7 6 4v 0= ¢ A -420 2.0 3 10 4v N-1 +5 -100 20 80| 7 6 34S+2 o7 200 5.0
8 5 4v 0= ¢ A -420 2.0 8 5 4vy N-1 vT -100 20 80|11 2 24S+2 w7 170 2.0
9 4 4v 0= ¢ A -420 2.0 12 1 4v N-1 ¢5 -100 20 80| 8 5 34S= &4 140 0.0
4 » K96 Bésta kontrakt 5 » E86 Bésta kontrakt 6 4 KD752 Bésta kontrakt
Vast vED3 6y N =1430 Nord vD2 2v O =-110 Ost vE1064 5NT S =460
Alla ¢+ ED972 NS + EKn864 ov +D2
#Kn9 L) »K108 & ¢ v & NT *42 LI
4842 4 Kn753 N 10 4DKn54 42 N57 476 4Kn84 496 N 109 1
v 1095 v 874 S 10 vKKn96 vE1054 S57 476 vKn72 983 S 109 1
¢ KKn105 +¢64 O 3 ¢ K107 ¢532 O7 6846 47643 ¢ E1095 0342
#1085 «KD74 VvV 3 #E9 «D7654 V86 856 #Knl103 #E965 V342
4 ED10 & K10973 ~E103
v KKn62 v 873 v KD5
+83 + D9 ¢ KKn8
#E632 #Kn32 #KD87
Par Kontr Ut Res Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 11 3NN+3 &5 690 9 6 INN+1 &6 120 00 00| 1 3 3NS+3 v2 490 9
1 3 3NN+2 &4 660 10 5 24 N= &4 110 80 20|12 2 3NS+3 v2 490 9
8 7 3NN+2 43 660 12 2 3v0O-1 +Q 50 6.0 4010 5 44 N+2 v9 480 6.
9 6 3NN+1 &K 630 8 7 INV+1l 46 -120 40 60| 8 7 3NS+2 &3 460 3.
10 5 3NN+1 a5 630 4 11 2v V+1 &8 -140 20 80| 9 6 4ANS+1 #J 460 3.
12 2 3NN+1 a5 630 1 3 34S-4 *A -400 0.0 100| 4 11 44 N+1 &6 450 0
7 & Kn5 Bésta kontrakt 8 & DKn653 Bésta kontrakt 9 4 D98 Bésta kontrakt
Syd v E109652 INT S =2220 Vast vKD7 44 V =-420 Nord v EKD1052 4¢ O =-130
Alla + D96 Ingen + KKn3 ov +D
«D9 * #Kn2 & ¢ v & NT #EKn10 LR A Y
442 4109876 N 13 +E 4K109874 N 55 4 3 4 4 KKn76 4 E4 N6 376
vD4 vKn73 S 13 v10862 vEA43 S 55 434 v 94 vKn76 S6 376
¢ 87543 ¢ KKn2 o0 ¢+ D72 ¢+ E106 O8 8 9 108 ¢ EKKn986 ¢ 742 O 7 106 7
#8652 #K3 vV 0 #EK984 &3 vV 8 8 9 109 *7 #KD843 vV 7 106 7
+ EKD3 a2 410532
vK8 v Kn95 v383
+ E10 49854 41053
#EKn1074 #D10765 #9652
Par Kontr ut Res Par Kontr ut Res Poéang Par Kontr ut Res Poéan
9 8 6vS= 42 1430 2 4 INO= a2 -90 00 00|10 7 2¢ N+1 &K 140 10.0 0.0
10 7 6y N= «8 1430 11 6 24 O= a2 -110 80 20| 2 4 3vN-1 s A -50 8.0 20
11 6 3NS+3 +8 690 5 1 2NO= +9 -120 50 50|11 6 3v N-2 aA -100 6.0 4.0
2 4 49y S+2 8 680 10 7 INO+1 a2 -120 50 50| 5 1 4eV= vA -130 3.0 7.0
12 3 4y N+2 &7 680 9 8 2NO+1 &2 -150 20 80(|12 3 4e¢ V= vA -130 30 7.0
5 1 4vyS+1 44 650 12 3 14DN-4 &3 -800 0.0 100 9 8 3¢DV+1l ¥vA -870 0.0 10.0
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10 4 EKn1065 Basta kontrakt 11 497 Basta kontrakt 12 a4 Basta kontrakt
Ost vD2 34 S =140 Syd v EK9842 74 S =1510 Vast v 6432 5& V =-400
Alla + E987 Ingen ¢ E97 NS + DKn432
*K9 & ¢ v & NT *K2 & ¢ v & NT #983 & ¢ v & NT
92 « D87 N8 47 97 &« DKn & 542 N 8 9 121312 2108632 4D N25454
vEKKn84 v9 S84797 vD3 vKn76 S 8 9 121312 vE8 vKD105 S2546 4
+ K64 ¢DKn10532 O 5 9 6 4 4 ¢+ Kn104 + K863 052101 ¢ K95 ¢ 1076 0118 9 7 9
&#E62 #1043 V586 44 #Kn87654 #D109 V52101 #E105 #DKn764 vV 118 9 7 9
4 K43 » EK10863 » EKKn975
v 107653 v 105 v Kn97
.- + D52 ¢+ E8
#DKn875 »E3 *K2
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
6 2 3vV-4 &K 400 100 00| 6 2 44 S+1  ¢J 450 80 20|10 9 INS= 46 90 10.0 0.0
3 5 3¢DO-1 £Q 200 80 20|11 8 4vy N+1 &9 450 80 20| 1 7 14S= +5 80 8.0 20
10 9 24 N+1 v9 140 6.0 40|12 4 4y N+1 ¢8 450 80 20| 3 5 24S-1 *A -100 6.0 4.0
12 4 INV-1 45 100 40 60| 1 7 44 S= +J 420 30 70|12 4 340= 4 A -110 40 6.0
1 7 INV+1l 45 -120 1.0 90|10 9 4y N= v6 420 30 70| 6 2 14DS-1 vA -200 20 8.0
11 8 INV+1 a5 -120 1.0 90| 3 5 6vyN-1 +6 -50 0.0 100(11 8 3NO+1 &A -430 0.0 10.0
13 « EDKn1094 Basta kontrakt 14 s E7 Basta kontrakt 15 » EKDKn954 Basta kontrakt
Nord v 863 24 N =110 Ost v KKn86 5NT O =-460 Syd vD9 INT S =2220
Alla +9 Ingen * K7 NS *+K
*K64 & ¢ v & NT #D8652 & ¢ v & NT #K105 & ¢ v & NT
& K52 483 N46 587 410532 4 KDKn N3 4322 4102 43 N 127 8 1313
vEKDKn5 v4 S46687 vE953 +vD74 S34322 vKn843 vK10752 S 127 8 1313
+D 41087543 O 7 7 6 4 4 +Kn53 ¢ ED6 09 9 101011 495432 ¢ Kn1087 016500
#Kn952  #E873 V77€646 #E10 #KKn97 vV 9 9 101111 *97 #DKn2 V16500
476 #9864 » 876
v 10972 v 102 vE6
+ EKKn62 4109842 + ED6
+D10 #43 »E8643
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
12 5 3v V-3 &4 300 100 00 1 9 4v V-1 4 A 50 100 00| 4 6 64 N+1 #Q 1460 9.0 1.0
1 9 3vV-2 +9 200 80 20| 2 8 2NO+3 T -210 80 20| 7 3 64N+l ¢J 1460 9.0 1.0
2 8 34S-= vA 140 6.0 40|12 5 3NO= *T -400 6.0 40| 1 9 54 N+2 ¢J 710 30 7.0
7 3 2NV-1 49 100 40 60| 4 6 3NV+1 *T -430 30 70| 2 8 44 N+3 v2 710 30 7.0
4 6 44DN-1 v4 -200 10 9.0{11 10 BNV +1 &2 -430 3.0 7.0|11 10 54 N+2 2 710 30 7.0
11 10 34 N-2 va -200 1.0 90| 7 3 3NO+2 T -460 0.0 10012 5 44 N+3 ¢J 710 30 7.0
16 « KD53 Bésta kontrakt 17 & Kn4 Bésta kontrakt 18 4963 Bésta kontrakt
Vast vD105 3NT N =400 Nord v EK872 44 O =-420 Ost v 10754 INT S =2220
oV ¢+ E92 Ingen +54 NS +5
#E95 & ¢ v & NT #EKKn5 & ¢ v & NT #K9632 & ¢ v & NT
4 E872 4Kn9 N9 96 99 4 ED52 498763 N6 86 36 4« DKn10 48754 N 137 131013
vEK2 v987643 S996 909 vKn9543 v10 S 6 86 36 vDKn v 82 S 137 131013
+ K106 ¢ Kn74 0347 44 ¢+ E76 ¢+ K3 07 46 107 ¢+ Kn108763 ¢ KD94 006 030
#1042 %86 V 34744 *7 #D10632 V7 46 107 «D10 #874 V06030
+ 1064 4 K10 & EK2
vKn v D6 v EK963
+ D853 + DKn10982 ¢ E2
#KDKn73 »984 #EKn5
Par Kontr Ut Res Poéang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 9 3NN+2 4 460 1000 0.0 3 9 2¢ S+1 &7 110 100 0.0 3 9 4v S+3 4Q 710 9.0 1.0
12 6 1a V-2 *5 200 80 20| 5 7 3#N-2 vT -100 70 30| 5 7 5vS+2 4Q 710 9.0 1.0
8 4 2NN+2 v4 180 60 40|12 6 2v N-2 +Q -100 70 3.0| 1 11 3NS+3 +J 690 50 5.0
5 7 INS+1 vA 120 40 6.0 2 10 2v N-3 v2 -150 40 6.0(12 6 3NS+3 +8 690 50 5.0
1 11 24S+1  vA 110 20 80| 1 11 24 0+2 +vQ -170 20 80| 2 10 4y N+2 ¢K 680 20 8.0
2 10 2¢v V-1 &K 100 0.0 100| 8 4 4vN-4 &2 -200 0.0 10.0| 8 4 3NS+1 4Q 630 0.0 10.0
19 4 D754 Bésta kontrakt 20 « D964 Bésta kontrakt 21 4 E3 Bésta kontrakt
Syd v 1042 6y V =-1430 Vast v63 2¢ V =-90 Nord vD9 54 O =-450
oV + D543 Alla 4832 NS + Kn985
+D8 & ¢ v & NT #D752 & ¢ v & NT #D10942 & ¢ v & NT
«KKn9 4E103 N23122 &« KKn # 10832 N75576 «DKn74 4 K10865 N66 222
vED87 9653 S23122 v D92 v EKn84 S75576 vKn10874 vE6 S66 222
¢ 107 ¢ EKKn O 1110121111 ¢ EKn1064 ¢ K5 06 8767 ¢E3 ¢+ K74 07 7 11119
#K1075 #E43 V 1110121111 +Kn104 #863 V68767 *E3 *K76 vV 7 7 11119
» 862 ~E75 492
v KKn v K1075 v K532
+ 9862 + D97 + D1062
#Kn962 #EK9 #Kn85
Par Kontr ut Res Poang Par Kontr ut Res Poéang Par Kontr ut Res Poéang
2 1 3NO+1 &8 -630 100 00| 3 11 2¢v O-2 45 200 100 00| 6 8 340+2 ¢3 -200 10.0 0.0
311 4v V+1  v2 -650 60 40| 6 8 2v0O-1 SA 100 80 20| 2 1 440+1 49 -450 40 6.0
9 5 4v0O0+1 ¢9 -650 60 40| 2 1 24N-1 + K -100 50 50| 3 11 44 0+1 +6 -450 40 6.0
12 7 4y V+1  #Q -650 6.0 40|12 7 24 N-1 + K -100 50 50| 4 10 44 O+1 ¢2 -450 40 6.0
6 8 4v O+2 &6 -680 20 80| 4 10 INS-2 ¢*4 -200 1.0 90| 9 5 440+1 +¢6 -450 40 6.0
4 10 3NO+3 45 -690 0.0 100| 9 5 INS-2 v2 -200 10 9.0(12 7 44 0+1 &J -450 40 6.0
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v Kn8 vD3
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41065

vE2

¢+ KKn10

#KKn1043
Kontr Ut
5¢DV-3 #9
4a O -2 vA
4¢ V = &9
34 O= vA
34 O+1 T
44 O+1 &5

Basta kontrakt

34 O =-140
E I 'Y
N6 3 7 2
S6 372
O 7 105 9
vV 7 105 9
Res Poéan
800 10.0
200 8.0
-130 6.0
-140 4.0
-170 2.0
-650 0.0
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v Kn5
¢+ 107542
#109832
4E94 4 K108763
vKD86 vE107

4963 ¢ Kn8
&#KD5 64
& D52
v 9432
¢+ EKD
&EKN7
Kontr Ut
INS-1 vK
34 O= A
24 O +1 *A
34 O+1 ¢A
INS-3 v8
INS-4 v6

Basta kontrakt

44 V =-620

& ¢ v & NT
N8 7 423
S87 423
055 9 109
V559 109
Res Poang
-100 10.0 0.0
-140 7.0 3.0
-140 70 3.0
-170 40 6.0
-300 20 8.0
-400 0.0 10.0

24 & EKn863
Vast v KKn82
Ingen +6
D109
495 « KD104
vED109643 ¢5
¢- + D97
#8532 &#EKKn74
a72
v7
¢ EKKn1085432
&6
Par Kontr Ut
5 11 64DO-3 ¢A
7 9 4v V-2 +6
4 1 4¢ S-1 49
10 6 5¢ S-1 49
3 2 6¢S-2 vA
12 8 5¢DS-1 vA

100

Basta kontrakt

5¢ ND-1-100
L IR A )
N 2 103 4
S 2 103 6
O 103 107
V 102 107
Res Poéang
500 10.0
8.0
-50 5.0
-50 5.0
-100 1.0
-100 1.0
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